Day 1 - TASK 1 ANSWERS

Question  Answer
a|There is1ten and 8 ones.
The number is 18

b) There are 4 tens and 3 ones.
The number is 43

a) There are 3 tens and 5 ones.
The number is 35

b) There are 4 tens and 0 ones.
The number 40

c) There are 2 tens and 9 ones.
The number is 29

d) There are 2 tens and 11 ones.
The number is 31

a) Thechildren can use any pictorial representation to represent 15
There is 1ten and 5 ones.
The number is 15

b) There are 3 tens and O ones.
The number is 30

The children could draw 5 tens and 1one, or they could draw 4 tens and 11 ones. Many
possibilities to total 51

The children should circle the representation with 5 tens and 4 ones, Rosie has made the
mistake of getting the tens and ones the wrong way around.

Amir is thinking of the number 74




